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Antiderivatives (... Introduction to Integration) ... Set 2

Basic Integration Problems

Find the following integrals.
- [5x7 = 8x+ 5)ax 2. [(-6x +9x + 4x - 3)dx
: J.(x%+2x+3)dx 4. J.[ﬁ— 51 +%]a’x
X x X
X+ dx 6. 12x* —9x3 )dx
o ¢ )
x* +4
il -: dx 8. j ! dx
J «x xJ;

. J(1+3r)r2dr 10. j(zﬂ—l)lm
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Answers

L Find the following integrals.

5x°
%—4x2+5x+C’

1. [(5x* ~8x+5)dx =

—3x*
3 +2x2 —3x4C

2. J'(—sf +9x% +4x—3)dx =

3
2

. I(x%+2x+3)dr= +x° +3x+C

+ %) dx = JIE —5x 2 4+6x°
X X

]a’x
Sx—l -

5 3
8Ln(x)+———+C
X x°

1
z]dx

)

=8Ln(x)-

s J(\mﬁ)dx: ﬂ _—

2
3

b | s
[

=
b | =

+C

X°+—x

w | o

[FYR
.
Ml'_“dn_ﬂ»—

o | W

7 8
48x*  27x3
- +c

3 5

10.

j(lzxI —9x3)dx =

x* +4

2
X

1
Jafx

fas3nfd= [ £ 43¢ di=

dx =

dx = J.1+4.3r'2 dx =

fx

[P

dx

7 8
4
x——+C
X
2
=|-—=+C
Jx
3 4
f? 3L+C
2
47 47

[er -1 di= [ 4 -4 +1 dr =

5

+t+C
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Antiderivatives (
S B
. [7sinGds
- [osin3x)dx
- [7cos(sx)dx

J4e“” dx

: ‘[—5(:05 Tx dx
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22.

. Jae
. ISCOS(O)J.{)

. [12cos40)do
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. J.J-’z.{/j_‘(ﬁ’: I1_;d1 i E +C

Answers

-+ JrsinGd=[Teos + ]

. _[9 sin(3x)dx = |—3 cos(3x) + C‘

7 sin(5x) L

IT cos(Sx)dx = .
. I4e ™ e = —46 +C
7
5si
) j—ﬁcos X dy = —th(?
T

12

18

22

. Jao=lo+]

. [5cos(@)d0 =

) Illcos(dﬁ)dﬁz 3sin 46

: _[4si11{i)dx =|-12cos (i

<

L

+C

<

L

J+e

. erEd\' — 36 +C

. I— 13¢%ds = |-

13¢*
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IT. Evaluate the following definite integrals.
9 3
1. f(sf _8x +5)dx 2. [ GF+2x+3)dx
9 1 45
3. j (Wx +—=)dx 4. | Zax
4 3-\/; 1 X

5. [La+3nedr 6. [ @ -1
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Answers

Evaluate the following definite integrals.

, 5
J.:(Sx‘ —8x+5)dx = [Tt

I(‘t +2x + 3)dx = 2%-% +3x

‘:ﬁ

[ ]
—

2 ) P
I_l(1+3r)r dt = 3t
= h]
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